ATELIER DE NUMERATION

J'apprends d décomposer des
nombres décimaux (1)
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06 + 0,04 +

l

sa décomposition. . P =g

8+09+ 1000+2+ | 20+1+0,7 30+2+0,3

003 0,04 + + 0,06 + +0.07

! 0,009 0,005 !

100 + 40 + 20+9+ 2000+800 | 100+80+6
8+02 0.03 +20+7+ +0,6 +0,05

! ! 0,1 + 0,007
20+2+0,7 | 800+50+4 10+7+0,2 300+ 60 +
+ 0,07 + +0,3+0,02 +0.001 7 +0,08 +

0,003 + 0,004 ! 0,009

3401+ |20+5+08 | 100+2+ 9;’2;?:
0,04 +0,07 0,3 0.05
l0+2407 | 30020+ [ o o | 1000+700
+0.06 3+0,1+ 0.09 +60+3+
’ 0,01 ’ 0,2
900 +40+ | 60+3+0,3 1:’2; 10: 2+0,9+
4+0,7 +0,03 0,02 0,07
0,1+007 |2°78*03 55,9403
10+1+0,2 0.008 + 0,03 + +0.007
’ 0,003 ’
1+0,7+ | 200430+ | 3+02+ 0,07 +
0,07 + 9+0,8+ 0,01 + 008
0,005 0,004 0,005 ’
20+2+0,4 3000 + 200
+0,03 + 8+0,1 0,10+00(;gz+ +70+2+
0,001 : 0,03 + 0,005
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2 000 + 300
+7+0,7+
0,06 + 0,002

700 + 80 +
8+0,1+
0,004

6 000 + 10
+2+0,2+
0,005

1000 + 100
+10+1+
0,02 + 0,003

400+20+7
+0,3+0,01
+ 0,008

8000 +3 +
0,9 + 0,004

7 000 + 400
+10+9+
0,05 + 0,002

20+0,3 +
0,03 +
0,001

900+90+ 8
+0,2+0,04
+ 0,003

300+50+2
+0,5+0,03
+ 0,005

20+7+0,4
+ 0,05 +
0,001

30+7+0,6
+0,02 +
0,006
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-ﬂ7 102,3 987,65

PV R
F{)oz ,049 21,765 32,37

———

11,2 0,178 56,333 29,307 2307,762 | 788,104 | 6 012,205 | 1111,023

A
‘1’ 77‘5-"55‘9 804 ““*“3,215 *o,

"7‘-.‘.-

425318 N81003,904 | 7 419,052

998,243

A découper
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